FENEFERSFFR

B5F
1 B8

HE 5
BER

2[E] B}
HE 5

AKENE
ELTER
EiIIHRE
3[E#k
B
ETER
B
R
B

2[E ER
BN E

ERE
BB E
R
BB E

255

B

3k
Ak

4
N

=0

11— 5 .
23 (1,23 ) 12 mESL
8§ — 6 -
17 o _ g 14 MEFE
27 — 10 —
42 ( 15 — 11 ) 21 HRIaE
13 — 3 +
20 (223 ) 2 =R
o (W) 17 sExE
9 — 10
14— 8 -
3 (19T %) 14 ma=m
14 — 4 N
st (3T ) 14 mkene
24 (B = 1) 21 mizsme

1 — 14

Hol
H.
i)
v

13—11)
27(14—9 20

17 — 11 =
3 ( 18 — 14 ) 2% B
.EH#:
3
af
10 — 3 =
16 6 _ o 5 BIR
10 — 4 =
19 9 _ 1 7 EKR
17 — 5
31 a9 7 L
11 — 1 733
28 7 — 3 4 BER
10 — 7 e
23 3 _ 5 12 {HRS

8§ — 7 .
SE RN
23 ( e 1 ) 18 E#E

1— 7 _—
2 (120 ) 1 sEe

FKEDEGERYAEE - EKE,S26E )
EEdna)=

JEFNE

et

AEERBRE/NVFR—ILE

BHEF: SF58F5H20-21-27-28H
KI5 FRET P RASTE #th

AR 20 (0" 3 ) 10 meEw
w26 (127 8 ) s
g 2 (0”0 ) 16 mEm
w17 (LT 0 ) 15 pEes
g 19 (LT ) ) 17 k=
AR 25 (0T 0 ) 14 mmsmaT
BEx o2 (T ) ) 1 omnE
wEg 2 (3”0 ) 7 =2m
g 25 (0T V) 17 mEe
SHELREH
gxEmo (T ) 18 mER
HES(11E.5Y3E B)
=2t
ELER
FRE R
= 6 — 5 SE NG
=Ef 16 0 — 6 11 JRHNER
mEst 20 (0 T 0 ) 11 mmxE
. 5 — 9 _
MER 15 10 — 3 12 =ZBM
g 18 (W8 14 BRI
wEa 19 (0”2 ) 8 =t
SHEIRTEH
9 — 11
mim 23 (05 8 ) 2 =mt
ER
2 &2 0
KB LLEBNEERK

SR F THREBMRIKICHIS



